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Solution = NDSolve[{r [t] * (L+4+c 2+r[t]"2) + (4+c” 2% (r'[t])) +r[t] * (2+g*xc-w"2) = O,

r[0] =5, r'[0] =0}, r[t], {t, O, 100}]
{{r[t] » InterpolatingFunction[{{0., 100.}}, <>][t]}}

Plot[{Evaluate[r[t]] /. Solution}, {t, O, 100}, PlotRange » {0, 20}]
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w=1.05
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Solution = NDSolve[{r”[t]* (lL+4%C"2xr[t]"2) + (4*Cc 2% (r'[t])) +r[t] % (2xg*xc-w"2) = O,
r[0] =5, r'[0] =0}, r[t], {t, O, 100}]
{{r[t] » InterpolatingFunction[{{0., 100.}}, <>][t]}}
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Plot[{Evaluate[r[t]] /. Solution}, {t, O, 100}, PlotRange » {0, 20}]
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Solution = NDSolve[{r [t] * (1 +4*c”2xr[t]"2) + (4*c”2* (r'[t])) +r[t]*(2*xg*xc-w"2) == O,
r[0] =5, r'[0] =0}, r[t], {t, O, 100}]

{{r[t] - InterpolatingFunction[{{0., 100.}}, <>][t]}}

Plot[{Evaluate[r[t]] /. Solution}, {t, O, 100}, PlotRange » {0, 20}]
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